EARAROBREBRT —5 XN—ZXBISH—F

2021118208 (£) 5SEIERR5H

Edisoro7s 777 USEBEIRL (RA) BIE [oml | ewml - | m ol B
[AXE%] 1 & :16,500,000 @ 2 3#&:6,600,000 M  33&:4,100,000 9 4 3% :2,500,000 5 3&:1,650,000
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
11111 v FIYTY €v5 ;Féiit?)ﬁéié 3:28.0 1-1-1-1 [ 13.4| - 1 494 iﬂzggaﬁﬁ)
. (=) E
RFVIALO— BUEVTFI—T RO PN
=00 [ v 8 | AtEIME 3:28.2 4-4-4-5 | 13.4| — 3 510 | &FERE )
] 2| FrITIRU— 60.0 @) Gy | TEES
R:O0TFR BiXALTUAR TS
~) )= 4t 7 | LA 3:29.1 3-3-3-3 [ 13.4| - 7 490 | FOEREEZ (=)
3| 7{1w0|\MWT¥/FY—0O 59.0 ) 0 | TESR=R—ILF(YTZ 1)
R:T7AUIT B:hIAARNILY RERIS
P £y 6 | BER— 3:29.2 9-8-7-6 | 13.5| — 4 | 42 |BHE R
/\y{m )bd'fri\ o 59.0 (/2 4e) | ) TU—YTr—h
Ri/ITURN BiIILARTU—=Y B EEEG R ABET NS
—Z RS~ o5 | NIRE 3:29.5 12-12-11-10/ 13.5 | — 13 | 492 |RARL ()
/7\.:“1 g _ . 59.0 1172 (p) | TLiEss
R:IVvRIVTA4 B:7—AIUYV PAFAT7—1
S~ e ~ ) s PP~ 3 AEB 3:29.5 5-5-5-6 | 13.5| — 6 468 | RRE @)
YVEVITTIY— 220 5
. (P9<) _ {EREI#EE]
RAYFaqY R BATUVIR—R ! 2 | @Ezew
INES A, o6 %ﬁ%mu&g 3:(29).7 7-7-5-4 | 135 — | 5 | 472 %g?ﬂ%r j(%%)
. 1 BR8I35
ROD—YRAYALA B:ARILVEY AROZH RO
glgln| 724vo7747 6 g%?ﬁ 3:(3(;.9 8-9-12-11 | 13.6| — | 9 | 478 ig%ggéiﬁ)
. 7 - 0 0
RIN—WISA B:IIANYIAF (-4) x;ﬁﬁ#ﬂ%
CH_ B o7 | EEEES 3:30.9 5-5-8-8 |13.6| — | 11 | 502 |HEFE ER)
9(5| 6| ®XA—RX . Ciome N © | @ AFPIR—LTA VTR
RIZARY v 4—T BFAVD NIV
10 9 EILTE—) 4 5 ?;*gﬂz 3(:31.? 10-10-10-8 | 13.6 | — 10 | 500 g%ﬂ’n’% E=H)
- = ) | EHE
RiFvINAO— B:F«T7—RIN—T) (-2) FBKIS
= Dy %7 | HB 3:31.4 2-2-2-2 | 13.6| - 2 530 | EOEE (FER)
1|57 | 771LXTp— 5.0 2172 g |BEERVILD
R:IATAIv— B:I5A4D4XIaA LA 945T7—1A
— o B o6 | ABEFDR 3:32.4  [13-13-13-12013.7 | — | 12 | 4% |AvELE (=)
1271 =2/RAF DT 59.0 6 BT
RU—FHISHY §:myIIP—F—2 © @0 | S)igs
= SR 410 | HEX - 10-10-8 - - 8 474 | BFEREE EH)
x+| 8|13 TAITLOYRIL 59.0 (@) MEEE
RFATLANSF— B:FATLINAT * 40 | T saETs
[ BN
Eh' 51.9-38.5
IA\m D2 ON
@ 11— —BBIEfI
13—7+— 1,7-10=2-(4,6)-5-12,3-(9,13)-8-11
20—F— 1-7-10=2(4,6)-5,3,12(9,13)-8-11
30—7— 1,7-10-2-(5,4)-3-(6,13) -9-8=12-11
43—F— 1,7,10,5,2(3,4)=(6,9)-8=12=11 13
o ILRE
B B 1 2804 AR 1-2 420/ 3= 1-2 9904 3EE 1-2-10 3,820MH
g B 1 130 1-10 830M Fs E 1-2 900H 3EH 1-2-10 14,720
2 170H 2-10 1,170 o= 1-2 1,770
10 280M

ABIC OV TRUTEREERRODDZE. THRIIZEL.



